CHAPTER 3 
Exercises for Sections A–D
1.
What is an argument?

2.
What does it mean to say an argument is valid?

3.
What does it mean to say an argument is strong?

4.
Can an argument be both valid and strong?

5.
If an argument is valid or strong, does that mean it’s a good argument?  Explain.

6.
If an argument is valid and its premises are true, is its conclusion true, too?  Explain.

7.
If an argument is strong and its premises are true, is its conclusion true, too?  Explain.

8.
Does whether an argument is good depend on whether it convinced anyone?

9.
If an argument is good, what does that show about its conclusion?

10.
If an argument is bad, what does that show about its conclusion?

11.
To be classified as good, an argument must pass three tests.  What are they?

12.
Can we show that an argument is not valid by showing that its conclusion is false?  
Give an example or explanation.

13.
Make up three arguments, two of which are bad and one good.  Exchange them with a 
classmate to evaluate.


a.


b.


c.

For Exercises 14–19, select the claim that makes the argument valid.  You’re not supposed to judge whether the claim is plausible, just whether it makes the argument valid.  These examples may seem artificial, but we need simple practice on the definition of “validity.”

14.
The dogs are drinking a lot of water today.  It must be hot.


a.
Dogs always drink when they are hot.


b.
Every dog will drink when the weather is hot.


c.
Hot weather means dogs will drink.


d.
Only on hot days do dogs drink a lot of water.


e.
None of the above.

15.
Every Yangakuchi monitor I’ve had either was defective and had to be returned or else 
burned out in less than a year.  So you’d be foolish to buy a Yangakuchi monitor.


a.
You should do what I tell you to do.


b.
Every Yangakuchi monitor will be defective or go bad.


c.
All monitors that are reliable are not Yangakuchi.


d.
None of the above.
16.
Puff is a cat.  So Puff meows.


a.
Anything that meows is a cat.


b.
Dogs don’t meow.


c.
All cats meow.


d.
Most cats meow.


e.
None of the above.

17.
Suzy is a cheerleader.  So Suzy goes to all the football games.


a.
Cheerleaders get in free to the football games.


b.
Cheerleaders are expected to attend all football games.


c.
Suzy is dating Tom, who is the football captain.


d.
All cheerleaders attend all football games.


e.
None of the above.

18.
If Spot gets into the garbage, Dick will hit him with a newspaper.  So Dick will hit Spot.


a.
The garbage is a bad thing for Spot to get into.


b.
Whenever Spot gets into the garbage, Dick hits him.


c.
Whenever Dick hits Spot, Spot was in the garbage.


d.
Spot got into the garbage.


e.
None of the above.

19.
The President is on every channel on television.  So he must be making an important 
speech.


a.
Only Presidents make important speeches on television.


b.
When the President makes an important speech on television, he’s on every channel.


c.
When the President is on every channel on TV, he’s making an important speech.


d.
Presidents only make important speeches.


e.
None of the above.

Exercises for Chapter 3
1.
a.
How can you show that an argument is not valid?


b.
How can you show that an argument is weak?

2.
a.
What is an indicator word?


b.
List at least five words or phrases not in the chart that indicate a conclusion.


c.
List at least five words or phrases not in the chart that indicate premises.


d.
List five more words or phrases that show an attitude toward a claim or argument.


e.
Bring in an argument from some source that uses indicator words.

3.
Mark which of the blanks below would normally be filled with a premise (P) and which 
with a conclusion (C)?


a.
(i)           ,  (ii)           ,  (iii)           ,   therefore   (iv)            .


b.
(i)           ,   since  (ii)           ,  (iii)           ,   and  (iv)            .


c.
Because  (i)           , it follows that   (ii)             and  (iii)           .


d.
Since  (i)           and  (ii)          , it follows that  (iii)          , because  (iv)          .


e.
(i)           and  (ii)          , and that’s why  (iii)          .


f.
Due to  (i)           and  (ii)          , we have  (iii)          .


g.
In view of   (i)          ,  (ii)           , and   (iii)           we get  (iv)          .


h.
From  (i)           and  (ii)          , we can derive   (iii)          .


i.
If   (i)          , then it follows that   (ii)          , for   (iii)            and  (iv)          .

4.
If an argument is bad, what does that tell us about the conclusion?

5.
If we want to give a good argument with a subjective claim as its conclusion, would it 
be better for it to be valid or strong?  Explain.

6.
To prove an objective claim, should we always give an argument that is valid?  
Explain or give an example.

7.
Which subjects in your school would employ only valid arguments?  Which would 
employ primarily strong arguments?  Which would rely on a mix of the two?

valid only


 primarily strong


mixture
For the following exercises answer the questions listed below each one.

8.
Flo’s hair was long.  Now it’s short.  So Flo must have gotten a haircut.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

9.
Intelligent students study hard.  Zoe studies hard.  So Zoe is intelligent.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

10.
Dr. E is a bachelor.  So Dr. E is not married.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

11.
All cats meow.  Puff is a cat.  So Puff meows


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

12.
All licensed drivers in California have taken a driver’s test.  Dick has taken a driver’s 
test in California.  So Dick is a licensed driver in California.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

13.
No dog meows.  Puff meows.  So Puff is not a dog.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

14.
Flo’s mother to Flo:  We have to go because we are leaving.  End of conversation!


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

15.
Lee:  I can’t get wifi reception in the house.  There must be something wrong with the 
router.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

16.
This book teaches how to reason.  So this book costs less than $70.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

17.
Lee:  My friend Judy manages a local bookstore.  She drives a new Jaguar.  So bookstore managers must make good money.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

18.
No cat barks.  Spot is not a cat.  So Spot barks.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

19.
What do you want to eat for dinner?  Well, we had fish yesterday and pasta the other 
day.  We haven’t eaten chicken for a while.  How about some chicken with potatoes?


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

20.
Maria:
Almost all the professors I’ve met at this school are liberals.  


Manuel:
So to get a teaching job here, it must help to be a liberal.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

21.
Suzy:  Every student who has ever taken a course from Professor Zzzyzzx has passed.  
So if I take his composition course, I’ll pass, too.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

22.
Dick missed almost every basket he shot in the game.  He couldn’t run, he couldn’t 
jump.  He should give up basketball.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.
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Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

24.  Some students don’t have enough money for college.  Anyone who wants an education 
but can’t afford it should be given financial aid.  So some students should receive 
financial aid.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

25.
Tom:
If Louie bought a new car, he must have had more money than I thought.


Harry:
Well, look, there’s the new hatchback he bought.


Tom:
So Louie must have had more money than I thought.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

26.
Zoe:
Spot got out of the yard somehow.


Dick:
He must have got out under the fence.


Zoe:
No way he got out under the fence.  There’s no sign of new digging


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

27.
Zoe:
Spot got out of the yard somehow.


Dick:
He must have got out under the fence.


Zoe:
No way he got out under the fence.  There’s no sign of new digging.  And we 


blocked all the old ways he used to get out under the fence.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

28.
Zoe:
Spot got out of the yard somehow.


Dick:
He must have got out under the fence.


Zoe:
No way he got out under the fence.  There’s no sign of new digging.  And we 


blocked all the old ways he used to get out under the fence.


Dick:
But he pulled down that chicken wire last week.


Zoe:
(later)  I checked—all the wire and rocks we put up are still there, and there’s 


no sign that the fence has been disturbed at the bottom.


Dick:
I hope he hasn’t learned how to jump over the fence.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

29.
Dick:
Whenever the garbage gets picked up, the trash bins end up away from the curb.  
Lee:
The bins haven’t been moved away from the curb.  So the garbage hasn’t been 

picked up.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

30.
[image: image2.wmf]

Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

31.
All cats shed fur.  There’s fur on Suzy’s couch.  So a cat’s been on Suzy’s couch.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

32.
Suzy:  Tom hasn’t called in a week.  So he doesn’t want to see me anymore.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

33.
There are 30 seconds left in the football game.  The 49ers have 35 points.   
The Dolphins have 7 points.  So the 49ers will win.


Argument?  (yes or no)


Conclusion:


Premises:


Classify:   valid    strong                       weak


If not valid, show why:


Good argument?  (choose one)

It’s good (passes the three tests).

It’s bad because a premise is false.

It’s bad because it’s weak.

It’s bad because it begs the question.

It’s valid or strong, but you don’t know if the premises are true, so you can’t say if it’s good or bad.

